
©Copyright 3/11/2020LF-Rev00

A6417A - A6417AK
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

TRIUMPH SPEED TWIN 1200 (2019/2020)

1/4
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

N° Descrizione/Description Caratteristiche/Features Codice/Code Quantità/Quantity

1 Supporto inferiore - Lower support - Support inférieur -
Soporte inferior - Untere Halterung - Suporte inferior - GL4586SP 2

2 Supporto superiore - Support higher - Support supérieur
Halterung höher - Soporte superior - Apoio superior - GL4587DXSP

GL4587SXSP 2(Right; Left)

3
Vite - Screw

Vis - Schraube
Tornillo - Parafuso

TBEI M8x30 830TBEI 2

4
Vite - Screw

Vis - Schraube
Tornillo - Parafuso

TBEIFH M8x30 830TBEIFH 2

5
Vite - Screw

Vis - Schraube
Tornillo - Parafuso

TBETIFX M5x12 512TBETIFX 2

6
Rondella Inox - Stainless Steel Washer 

Rondelle Inox -Rostfreie Unterlegscheibe Aus Stahl 
 Arandela Inox - Arruela Lisa De Aço Inox

Foro Ø8mm / Esterno  Ø14mm Sp.0,3mm 805RONX 4

7
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador – Espaçador

Ø12x9 Foro 8,5mm C12L9F8,5T 2

8
Distanziale - Spacer

Entretoise - Distanzstueck
Distanciador – Espaçador

Ø20x6,2 Foro 8,5mm C20L6,2F8,5T 2

9 Dado - Bolt - Ecrou
Mutter - Tuerca - Porca

Dado Autobloccante Flangiato
Ribassato M5 5DADIAFL 2

10
Componenti Originali - Original Parts
Parties Originales - Original Bauteile

Componentes Originales - Componentes Originais
- - -

11

Particolari Inclusi nel A201
Components Included In The A201

Pièces Inclues Dans A201
Die Einzelnen Teile Sind Bei A201

Despieces Incluidos A201
Componentes inclusos na A201

- - -



©Copyright 3/11/2020LF-Rev00

A6417A - A6417AK
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

TRIUMPH SPEED TWIN 1200 (2019/2020)

2/4
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

2 4 531

6 7 8 9

4mm - 5mm - 6mm

12mm

8mm - 10mm

M8X30 M8X30 M5X12

M5
Hole Ø8mm/
External Ø14mm/
D.0,3mm

Hole Ø8,5mm/
External Ø12mm/
H.9mm

Hole Ø8,5mm/
External Ø20mm/
H.6,2mm

T25



©Copyright 3/11/2020LF-Rev00

A6417A - A6417AK
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

TRIUMPH SPEED TWIN 1200 (2019/2020)

3/4
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

A

REMOVE

10
10

B

11

11

11
11

1111

1111

11

11

1



©Copyright 3/11/2020LF-Rev00

A6417A - A6417AK
ATTACCHI SPECIFICI PER  -  SPECIFIC FITTING KIT FOR  -  KIT DE MONTAGE SPECIFIQUE POUR  

 SPEZIFISCHER MONTAGEKIT FÜR  -  ANCLAJE ESPECÍFICO PARA - ANCORADOURO ESPECÍFICO

TRIUMPH SPEED TWIN 1200 (2019/2020)

4/4
ISTRUZIONI DI MONTAGGIO  -  MOUNTING INSTRUCTIONS 

INSTRUCTIONS DE MONTAGE - BAUANLEITUNG 
INSTRUCCIONES DE MONTAJE - INSTRUÇÕES DE MONTAGEM

8
2

7

4
5

9

6

6

3

11

C


